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1. HACIHHOPT KOMIIVIEKTA KOHTPOJIbBHO-OLIEHOYHBIX CPEJACTB

B  pesyaprare ocBoeHUs ~ y4eOHOW  JAUCHUILIMHBI  MHOCTpaHHBIM  S3bIK
oOyuaromuiicss JomxeH obsanate npegycmorpeHHsiMu @I'OC no cnenuanbHOCTH
CIIO 23.02.03 TexHuuyeckoe O0O0CIYyKMBAHME W PEMOHT ABTOMOOWJIBHOIO
TPAHCNOPTA 001MMHM U PO(HECCUOHATBHBIMU KOMIETEHIIUSIMU

OK 01. Boibupars cnocoObl pemieHus: 3agad npodecCuoHanbHON AEeSTENIbHOCTH
MIPUMEHUTENBHO K Pa3JINYHbIM KOHTEKCTaM;

OK 02. Mcnonp30BaTh COBPEMEHHBIE CPEACTBA MIOUCKA, AHAIN3a U UHTEPIPETALUN
uHpopMauu U HHG(OPMALMOHHBIE TEXHOJOTHMU JUIS BBINOJHEHUS 3aj4ad
npo¢eCCUOHAIBHON JESITENbHOCTH;

OK 03. IlmanupoBaTh W peaM30BBIBATH COOCTBEHHOE MPOGECCHOHAIBHOE U
JUYHOCTHOE pa3BUTHE, npeANPUHUMATEIbCKYIO JESATEeNIbHOCTD B
npodeccuoHanbHOM chepe, UCIONIb30BaTh 3HAHUS 10 (PMHAHCOBOW TPAMOTHOCTH B
Pa3JIMUHBIX )KU3HEHHBIX CUTYaIUsIX;

OK 04. Db dexTuBHO B3anMO1eHCTBOBATh U Pa0OTATh B KOJIJICKTUBE U KOMAH/IE;

OK 05. OcymecTtBiasiTh YCTHYIO Y NUCBMEHHYID KOMMYHHUKAIMIO Ha
rocyJapcTBeHHOM s3blke Poccuiickoit dexeparuu ¢ y4eToM OCOOEHHOCTEH
COLMAIIBHOTO U KYJIbTYPHOT'O KOHTEKCTA;

OK 06. IIposBisATh IpaKJaHCKO-IIATPUOTUYECKYIO IMO3ULIMIO, JEMOHCTPUPOBATH
OCO3HAHHOE TIOBEICHWE HAa OCHOBE TPAAMIMOHHBIX  OOIIEUYEIOBEUYECKUX
LHEHHOCTEW, B TOM 4YHCJIE C YYETOM TapMOHM3allMd MEKHALMOHAIBHBIX U
MEKPEIUTUO3HBIX OTHOWIEHHWW, IPHUMEHATh CTAHAAPTHl AHTUKOPPYILMOHHOTO
IIOBEJICHUS,

OK 07. ConeiicTBOBaTh COXpaHEHHIO OKPY>KAIOIIEH Cpeibl, pecypcocOepesKeHuIo,
OPUMEHATh 3HAaHUS 00 W3MEHEHWU KJIMMAaTa, [PUHLIUIB OEepeXIMBOIO
IPOU3BOJCTBA, 3PPEKTUBHO AEHCTBOBATH B UPE3BBIYANHBIX CUTYALIMSIX;

OK 08. Hcnomb3oBaTh cpeacTBa (U3MYECKOM KYJIbTYPhl ISl COXpPAHEHUS U
YKpEIUIEHHUsI 370pOBbsi B mpolecce MNpohecCUOHAIBHON JIEITENIbHOCTH U
NOJIIepKaHKsI HEOOXOJUMOTO YPOBHS (PU3UYECKON MTOATOTOBIEHHOCTH;

OK 09. TTonb3oBathcsi poecCHOHATBLHON TOKYMEHTAIUEH Ha TOCYJapCTBEHHOM
Y NUHOCTPAHHOM f3bIKax."



Y4eOHBIM TUTAHOM KOJUIEKAa TPETyCMOTPEHA MPOMEXKYTOUYHAs aTTecTalus II0
yuebHoi auctuminie MHocTpaHHbli s13bIK B (hopme muddepeHInpoBaHHOTO
3ayera.

2. PE3YJIbTATHI OCBOEHUSA YUYEBHOM JUCHUILJIUHBI

B pe3ynbrare arrecTanuy OCYHIECTBISETCS KOMIUIEKCHAs MPOBEpKa CIEAYIOMIMX
YyMEHUN W 3HaHUH, KOTophle  (opmupyror olmme u npodecCuoHaAIbHbIC
KOMIIETEHIUU:

3HAHMA:

1. Jlekcuueckuii (1200 — 1400 nexcuyecKux €IWHMI]) U TpaMMaTHYECKUH
MUHUMYM, HEOOXOJUMBIN IJI1 YTEHHs] W MepeBoAa (CO CIIOBApEM) MHOCTPAHHBIX
TEKCTOB NMPO(ECCUOHANTBHON HANpPaBIEHHOCTH

YMEHHUS:

1. OOmarbcst (YyCTHO © THUCBMEHHO) Ha  HWHOCTPAHHOM  SI3BIKE  Ha
npodeccruoHaIbHbIE U MOBCETHEBHBIC TEMBI;

2. IlepeBomuth (cOo ciOBapeM) HMHOCTpPaHHBIE TEKCThI MPOPECCUOHATBHON
HaIPaBJICHHOCTHY,;

3. CaMOCTOSITEIbHO COBEPILIEHCTBOBATh YCTHYIO M MUCbMEHHYIO p€Yb, MOIMOIHATh
CJIOBapHBIN 3aI1ac;

3. POPMbI 1 METO/IbIl OHEHUBAHUA

KOHTpOsIb U OlieHKa 3HaHWW, YMEHUH, a TaKkke CPOPMHPOBAHHOCTh OOUIUX U
npo¢eCCUOHATIBHBIX ~ KOMIIETEHIUH OCYLIECTBIIAKOTCA C  MCIOJIb30BAHUEM
cienyromux GopM U METOAOB: MIPOBENCHUS TECTUPOBAHMS, BBIIIOJHEHUS JIEKCUKO-
rpaMMaTHYECKUX 3aJaHuil, paboThl ¢ NPOPEecCHOHANBHO OPUEHTHPOBAHHBIMU
TekcTaMu. OLEHKa OCBOEHUS IUCLUIUIMHBI IPEAyCMaTPUBAET HCIIOJIb30BAHUE
HAKOIIUTEIbHOM  CHUCTEMbl OLIEHHWBAHMUS MpPU NPOMEKYTOYHOM aTTeCTallud U
nuddepeHITMPOBAaHHOM 3a4eTe.

4. KOHTPOJIBHO-OEHOYHBIE CPEJACTBA J1Jisd TEKYHIEI'O
KOHTPOJIA

Paspges 1. Ctpansl H3y4aemMoro si3blka
Tect Nel

Bapuanr 1

3aganue Nel:

1. Ann never ... to work by bus.



a) go b) does go
2. Mary ... alot last year.

a) travels b) did travel
3. She ... French at all.

a) not speaks b) doesn’t speak

4. This book ... five years ago.
a) write b) wrote

5. We ... this work tomorrow.
a) did b) will do

3aganue Ne2:

1. I think the article ... tomorrow in the evening.

a) will translate b) will be translated
2. The city ... on the banks of the river.

a) is situated b) situated

3. About 5 000 new houses ... last year.

a) were built b) are built

4. He ... to the theatre next month.

a) goes b) will go

5. Soldiers ... obey their commander’s orders.
a) can b) must
Bapuanr 2

3aganue Nel :

1. Soldiers ... obey their commander’s orders.
a) can b) must

2. ... 1 come in?

C) goes

c) travelled

c¢) doesn’t speaking

c) was written

c) done

c¢) will translated

c) are situated

¢) built

c) went

c) may

c) may



a) can b) must c) may
3. I’m afraid you ... everything once again.

a) must do b) have to do c¢) can do
4. ... you speak English?

a) may b) must c) can

5. Itwas 10 o’clock. I ... leave.

a) must b) have to c¢) had to

3aganue Ne2:

1. ... I comein?

a) can b) must c) may
2. I’m afraid you ... everything once again.

a) must do b) have to do ¢) can do
3. ... you speak English?

a) may b) must c) can

4. It was 10 o’clock. I ... leave.

a) must b) have to c¢) had to
5. When I was a boy I ... play football.

a) can b) must c) could

Tect Ne 2

Bapuanr 1

3ananus:

Bri0epuTe npaBUIIbHBIN BAPUAHT.



1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c¢) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c) Brazil ... Cuba
4. ... 1s the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... is more than 75 miles from the sea.

a) Great Britain b) the USA c) Australia

Bapuanr 2

3ananus:

Bri0epure npaBU/IbHBIN BAPHAHT.

1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains

2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... 1s located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c¢) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA
5. ... is typical of the UK.
a) steady rainfall b) severe drought c) cold winter

Tect Ne 3

Bapuanr 1

3aganue:

L. IIpouwnraiitre Borpocsl 1-4 u TekcThl, 0003HaueHHble OykBaMu A-E. Ycranosure,
B KaKMX TEKCTaX MOYKHO HANTU OTBET HA 3TU BONMPOCHL. OTBET HA KaX bl BOIPOC
MOKHO HaWTH TOJILKO B OJHOM TEKCTE. 3aHECUTE CBOM OTBETHI B TaOJIHILY,
MPUBEACHHYIO HUXKE, TJI€ MOJI HOMEPOM BOIPOCA BIUIIUTE COOTBETCTBYIOIIYIO
OykBy. B 3a1aHnu OqWH TEKCT JIMIITHHAM.

Where can tourists....



1. learn more about extreme sports?

2. see a country which is as large as America?

3. enjoy the most splendid view of the Niagara Falls?
4. have lunch at a sand dune?

A. Canada has an area of nearly ten million square kilometers. It is a country of
lakes. Since the building of the St. Lawrence Seaway the Great Lakes and the St.
Lawrence River form a great water way from the Atlantic to the heart of the
country. The Niagara Falls on the Niagara River between Lake Erie and Lake
Ontario are one of the most splendid sights in the world.

B. New Zealand is famous for its geysers, thermal springs, its national past time
rugby and extreme sports. It is a mountainous country. Most of North Island and
the south-west of South island have good forests of evergreen trees and large areas
are rich grasslands. Tourists are offered such extreme amusements as tramping
through virgin forest, rafting on rushing mountain rivers, jumping from helicopters
and bridges into precipices and water.

C. Australia is massive and very sparsely peopled: in size in rivals the USA, yet
it’s population is just over eighteen million. This is an ancient land, and often looks
it. In contrast, its cities — most of which were founded as recently as the mid
nineteenth century — express a youthful energy.

D. Indian people are very friendly and hospitable. I continued to travel in India at a
snail’s pace. The longer we were out in the desert, the more beautiful it grew, so
peaceful and romantic as the land shifted from scrub bush to sand dunes to rocky
hills and back to sand dunes. Each day we could stop at a new sand dune for lunch.

E. Dubai (a land of sunrise) was once a part of a large desert. But now it is a green
island of everlasting summer, a centre of world entertainment, and a civilized city
in the United Arab Emirates. There are wonderful buildings of glass, skyscrapers,
peaceful fountains in the middle of flower gardens, and meadows with colorful
plants.

Bapuanr 2
3ananue:
Match the names of the famous British people (a-f) with the sentences (1-5).



1 | All the British admire that man. He was a brave and a
skillful admiral. He won the battle of Trafalgar. Sir Isaac
Newton

2 | The British called her “the Queen of people’s hearts”. She | b | Horatio
was well-known for her charity; she helped people with Nelson
dangerous diseases. At the age of 20 she married Prince
Charles and they had two sons.

3 | His name is well known all over the world. He acted at the | ¢ | Daniel Defoe
London theatre called “The Globe” and wrote tragedies,
historical plays, comedies and poetry. His plays are still
popular — not only in England but in the whole world.

4 | He is one of the greatest men in the history of science. He |d | William
was born in a small village in England in 1642, studied Shakespeare
mathematics and physics at Cambridge University. He
discovered the universal law of gravitation.

5 | He was a famous English writer of the eighteenth century. | e | Princess
He wrote his famous book when he was nearly 60 years Diana
old. His book was based on the real adventures of a sailor,
who had lived alone for four years on a desert island. For
this book he was called “the father of English prose”.

Tect Ne 4

Bapuanr 1

3aganmue Nel:

Bri0epure npaBUIbHBIN BAPUAHT.

1. The Australian continent is washed in the north by ....

a) the Arafura Sea b) the Irish Sea c) the North Sea

2. The land varies from high mountains to deep canyons in ....
a) Australia b) the USA c) the UK

3. The USA stretches from ... in the north to ... in the south.
a) Canada ... Mexico b) Mexico ... Canada c) Brazil ... Cuba
4. ... 1s the highest mountain in England and Wales.

a) Snowdon b) Elbrus c) Everest

5. No place in ... is more than 75 miles from the sea.

a) Great Britain b) the USA c¢) Australia

10




3aganue Ne2: [IpouunTaiiTe nH(MOPMAIIMIO O CTYAEHTaX, TOJIBKO YTO MPUEXABIIUX
B JIETHIOIO WIKONY. [TogOepuTe npaBuiibHBINA 3aroJ0BOK /ISl KyKJI0M YaCTH TEKCTa
13 IPEII0KEHHBIX BAPUAHTOB:

A. Eating traditions
B. A treat and a song go together
C. A popular way of getting many presents
D. Holiday decoration business
E. Holiday food business
F. Cooking special holiday dishes

1. Many stores in the USA stock a large range of holiday house decorations for
a month before the holiday itself. For instance, on Thanksgiving Day they sell
pumpkins and leaves specially designed for adorning. As for Halloween, stores
offer flashlights, masks, and skeletons for decorating the gardens and for scaring
one’s guests. Thus, people alter the attire of their houses several times a year. The
wealthier families change not only the season’s outside decorations but even the
interior  of their  houses such ascurtains, carpets and  pictures.

2. On the Eve of Thanksgiving Day, most supermarkets are flooded with turkeys
selling at lower prices. Turkey producers have to decrease their price because they
must sell all the turkeys as soon as possible, otherwise they will still have them
when Christmas comes or even longer. Almost nobody buys turkey for an ordinary
meal (during the rest of the year). At Christmas, Americans also cook a turkey
orthey can choose another traditional dish, e. g roasted ham.

Bapuanr 2
3ananue Nel:
Bri0epute npaBUIIbHBII BAPUAHT.

1. The centre of the Australian continent is taken by ....

a) the mountain ranges b) the deserts c) the plains

2. The chief rivers of Great Britain are ..., ....

a) the Avon, the Thames b) the Missouri, the Yukon c) the Murray, the Darling
3. ... 1s located to the south of Asia, between the Pacific and Indian oceans.

a) The USA b) Great Britain c¢) Australia

4. The southern parts of ... have warm temperatures year round, but the northern
parts have very cold winters.

a) Australia b) the UK c) the USA

11



5. ... is typical of the UK.
a) steady rainfall b) severe drought c) cold winter

3apanme Ne2: [Ipounraiite nHPOpPMALIKIO O CTYIEHTAX, TOJBKO YTO MPUEXABIINX
B JIeTHIOIO mKkomy. [TogbepuTe mpaBUIbHBIN 3aT0IOBOK JIJIsI KAKIOM YaCTH TEKCTa
U3 MPEJI0KEHHBIX BAPHUAHTOB:

A. Eating traditions

B. A treat and a song go together

C. A popular way of getting many presents
D. Holiday decoration business

E. Holiday food business

F. Cooking special holiday dishes

1. One of the peculiarities of Americans is that they do not usually sit around the
table for a holiday meal. For larger groups, all the food usually stands on a special,
separate table that is beautifully decorated. Everyone can serve themselves with the
food they want. What is more, they do not usually have salads,” which may seem
rather strange for the Russians living there. Salads, to Americans, may be nothing
more than tossed leaves of lettuce with a few other vegetables.

2. One more type of celebration, which is connected with presents, are «showersy,
for instance a baby-shower or a wedding-shower. For a baby-shower, a pregnant
woman is given presents for her future child, whereas for a wedding-shower

a bride receives presents for her household. These showers are popular because

on the one hand, it is usually a moderate price to rent a cafe or a restaurant and
order some kind of snacks such as crisps and sauces and salads. On the other hand,
it is very pleasant to be «showered» with presents. Many people are usually invited
to such parties.

Pa3znea 2. Boigarommecst TUHYHOCTH.
Paszpnen 3. 51 u Mup, B KOTOPOM 1 ’KUBY.

Bapuantl

3ananmue:

Read the texts about famous Russian people. Match the texts with the names of
these famous people.

1 | He was a well-known Soviet and Russian actor and clown | a.
who acted in many popular films. He worked in a circus Valentina

in Moscow and now this circus has his name. Children Tereshkova
and grown-ups like to visit it.
2 | She is a Russian professional tennis player. She is an b.

12



Olympic medalist, who won silver for Russia in women's | Peter the Great
competition at the 2012 Summer Olympics in London.

3 | She 1s a Russian cosmonaut. She was the first woman in C.
the world to fly in a space rocket. She flew in spaceship Dmitry Bilan
Vostok 6 on 16 June 1963.

4 | He was a Russian czar at the end of 17th century. He is d.
best known for his big reforms and made Russia a great Yury Nikulin
nation. He went to Europe where he met many talented
people and learnt a lot of jobs. He built ships and created
Russian fleet. He founded St. Petersburg.

5 | He was a Russian scientist and inventor. He discovered e.

and formulated the Periodic Law and made the Periodic Maria Sharapova
Table of Elements. An interesting fact about him is that he
saw this system in his dream, when he was sleeping.

6 | He is a Russian actor, singer and a songwriter. He f.
represented Russia at the Eurovision Song Contest 2006 Mikhail
with the song "Never Let You Go". He won the second Lomonosov

place. In 2008, he won the contest in in Belgrade with the
song "Believe".

Bapuanr 2
3ananmue:
Ecological Problems
Ecology is a science which studies the relationship between all forms of life on our
planet and the environment.

Since ancient times Nature has served Man, giving him everything he needs: air to
breathe, food to eat, water to drink, wood for building and fuel for heating his
home. For thousands of years people lived in harmony with the environment and it
seemed to them that the resources of Nature had no end or limit.

With the industrial revolution our negative influence on Nature began to increase.
Large cities with thousands of polluting plants and factories can be found
nowadays all over the world. They pollute the air we breathe, the water we drink,
the fields where our crops are grown. Big cities suffer from smog. Cars with their
engines have become the main source of polluting in industrial countries.

Vast forests are cut down everywhere for the needs of industries. As a result many
kinds of animals, birds, fish and plants are disappearing nowadays.

The pollution of the air and the world’s oceans and the thinning the ozone layer are
the other problems arising from men’s careless attitude to ecology.

13



Active measures should be taken to save the life on our planet. There is an
international organization called Greenpeace which is doing much to preserve the
environment.
Questions to the text on ecological problems:
Why are the wild animals in danger?
What climatic changes are the most threatening?
Is there any way to make our air cleaner
What is Green Peace?
What are the main ecological problems?

A e

Pazgen 4. Cnopt u 310pOBbIii 00pa3 KU3HMU.
Bapuanr 1
3ananmue:

Swimming
Read the text. Complete the passages using the words. racing, until, goggles
(ouxu), almost, as long as, safety, splash, besides, ear plugs (6epywiu), prevent.
Most Americans can swim, and 1 everyone likes at least to 2
around in the waves on a hot day at the beach. Knowing how to swim
is important for 3 but when you do it seriously, swimming is also one of
the best exercises for your body.
4 water and  swimsuit you don’t need  much.

5 keep irritating chlorinated water out of your eyes and let you watch

where you’re going, A swimming cap makes you more streamlined for
6 and keeps your hair out of your face.

7 keep the water out and 8 ear infections.

To get in shape, start by swimming twenty minutes three times a week. Add ten
minutes 9 you’re swimming for an hour each time. Vary your strokes
to work different muscles. It’s okay to take short breaks, 10 your

heart rate stays up.

Bapuanr 2
3ananue: Read the text. Answer the questions.
Sports and healthy lifestyle

Sport plays an important role in the life of teenagers. Those people who go in
for sports, lead a healthy lifestyle, follow a diet and control their weight tend to be
more cheerful and are less susceptible to diseases. On the other hand, those people
who don't participate in any physical activity and prefer junk food tend to be
subjected to obesity and are at risk of heart and vascular diseases. As a matter of
fact, the problem of obesity is one of the most pressing in the modern world. Today

14



more and more teenagers are becoming overweight. One solution that can be put
forward is doing sports, which can help teens not only to lose excessive weight and
to stay fit, but also to feel more vigorous and spirited throughout the day. Physical
exercises are also the perfect way for emotional release. To improve school
performance it is essential for school children to balance mental stimulation and
physical activity. Besides, it is necessary to mention that supporters of healthy life
style are also at much less risk of getting involved in drinking alcohol, taking drugs
and other bad habits than those who are addicted to computer games, instead. In
addition, sports develop the will for victory, as well as caseharden the constitution
and the spirit. Sports also create opportunities to find congenial souls with
common interests and values. That feeling that you are a part of the team can help
to develop your leadership skills and to boost your self-esteem.

The most popular team sports for teenagers are football, volleyball, basketball
and tennis. However, some youngsters prefer winter sports, such as figure-skating,
ice-hockey and skiing, while others are fond of summer sports, including diving,
swimming, yachting and rafting.

As far as [ am concerned, 1 do like sports. I usually wake up at 7 a.m. and go for a
run or do my morning exercises indoors. Twice a week I take my fitness classes
and go to the swimming pool. I am also fond of yoga which teaches me how to
take care of my body properly and how to stay healthy, flexible and strong. In
summer [ like to play badminton and volleyball with my friends, while in winter I
go to the skating rink. As for dieting, I am a follower of separate nutrition. When
you eat separately you can eat almost anything but not at the same time. For
instance, for breakfast I prefer a plate of oatmeal, a glass of orange juice and two
apples. As is known, "an apple a day keeps a doctor away". For dinner I can eat
fresh vegetables and some steamed fish. Besides, I prefer mineral water and fresh
juices to fizzy drinks. In conclusion, a healthy person doesn't smoke, eats healthy
food and prefer doing sports to watching them.

Vocabulary:

1) to go in for sports — 3aHUMATHCS CIOPTOM

2) to lead a healthy lifestyle — Bectu 310poBBIi 00pa3 )KU3HU

3) to follow a diet — cobmromaTh queTy

4) physical activity — ¢uznueckas 1esTenbHOCTb

5) to take part (in) / to participate in — IpUHUMATH y4acTHe (B 4eM-I100)
6) junk food — He3zmopoBas nuina, dhact-hya

7) to lose weight — xyneTs, cOpacbiBaTh Bec

8) to keep fit — ocTtaBathcs B Xopoiei Gpuzndeckoi hpopme
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9) susceptible to diseases— BOCIPUUMYUBEIN K OOJIE3HIM

10) heart and vascular diseases — cepaeuHO-cOCyAUCThIE 3a001€BaHM

11) obesity—Ty4HOCTb, O)KHUpEHUE

12) overweight people— mtoau ¢ U30BITOYHBIM BECOM

13) vigorous — CHJIbHBIN, SHEPTUYHBIH

14) spirited— >xuBO#, OKUBJIEHHBIHN, YHEPTUUHBIN

15) emotional release— amormoHanbHas pa3rpyska

16) bad habit — nypHas npuBbIuka

17) to caseharden the constitution — 3akansiTb T€IO

18) skating rink — xaTok

19) will for victory — Bouist kK modezie

20) to caseharden the spirit — 3akansaTs gyx

21) congenial soul— O61u3KuUH 110 AYXY YEIOBEK

22 to boost self-esteem — noBpIIaTH CAMOOLIEHKY

23) to go for a run — BBIXOJIUTH HA MTPOOEKKY

24) to do morning exercises — JieJaTh YTPEHHIOK 3apsIIKy

25) yachting (sport)— mapycHBIH CTIOpT

26) separate nutrition — pa3ieJbHOE MUTAHUE

27) steamed fish — priOa Ha mapy

28) oatmeal — oBcsiHas Kara

29) fizzy drink — ra3upoBaHHBIN HAITUTOK

30) flexible— ruGkmii.

Answer these questions.

. What role does sport play in the life of teenagers?

. Those people who go in for sports, lead a healthy lifestyle, don’t they?

. What problem is one of the pressing in the modern world?

. How can one solve this problem?

. What role do physical exercises play for emotional release?

. What should students do to improve school performance?

. What bad habits are there in the text?

. What are the most popular sports for teenagers and youth?
. What lifestyle do you lead?

10. What person is called a healthy person?

O 0 3 N L bW

Paszpen S. O0b1yam ¥ TpaguUMK.

Bapuanr 1

3ananme:

Read the text and say if the sentences below are true (T) or false (F):
Easter
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As soon as 2 January arrives, shops remove the Christmas product lines from
their shelves and the Christmas decorations from their windows. What fills the
empty spaces? Chocolate Easter eggs, Easter bunnies and Easter chicks, despite the
fact that Easter itself doesn’t come along until a few months later. Easter also
means we have public holidays, Good Friday and Easter Monday, it’s the longest
public holiday after Christmas and people sometimes take the opportunity to take a
short break away from work by extending their leave. Cheryl from Liverpool said,
‘I use the Easter break to visit relatives and socialise with friends, the chocolate
giving and receiving is a good bonus!’

Easter celebrates the resurrection of Christ. In the European pre-Christian
tradition, it celebrates the return of nature and greenery after the cold, snowy
winter. The Easter chick symbolises new life, the rabbit represents fertility and the
egg symbolises both. That is why painted eggs or chocolate eggs are given as gifts
at Easter.

Are these sentences T or F?

1) Soon after Christmas the shelves of all the shops become empty.

2) Chocolate Easter eggs, Easter bunnies and Easter chicks can be bought long
before the Easter coming.

3) Easter is the longest public holiday after Christmas.

4) Easter celebrates the return to pre-Christian traditions.

5) Easter eggs symbolize return of nature.

Bapuant 2
3ananme: Read the text and fill in the gaps:
Christmas in Different Parts of the United Kingdom

In the north of England up to the middle of the 20th century, it (1)
common to find a dish of “Mugga” on the Christmas Eve table. This (2)
a kind of wheat porridge, sweetened with honey, which (3)
before the main meal, and also throughout Advent, which is the month leading up
to Christmas. It (4) a remnant left over from Viking times. But it (5)
up in similar forms all over Europe. In Poland for example they (6)
“Kuia” which is a cereal dish made from wheat, fermented overnight in

milk, sweetened with honey and spiced. In Scotland they (7) “Athol
Brose” which is made from oats. It also has whisky in it and (8) as a
drink!

1. A.1s B. are C. was D. had been
2. A.1s B. are C. was D. had been
3. A. ate B. eat C. eats D. was eaten
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4. A. has been B. was C. 1s D. are

5. A. turned B. was turned C. turn D. turns

6. A. has B. have C. had D. have had

7. A. have B. has C. had D. have had

8. A. is served B. was served C. serves D. served

Paszgen 6. «IIpou3BoaCTBO aBTOMOOMIICH

Bapuant Nel
3apanue:
Read and translate the text:

A VISIT TO A PLANT
A group of pupils was going to visit a machine-building plant. They were met by
the chief engineer. He told them a few words about the history of the plant and its
work. After the introduction made by the chief engineer, the pupils were taken over
the shops. They visited a forge, a foundry and the main assembly line. In the shops
they watched the forging, casting and welding processes. The pupils were told
about safety techniques, the aim of which is to prevent accidents. The air in the
shops was purified by modern ventilators and dust-collecting apparatus.
Experimental work was conducted on a large scale; labor-saving devices were
constantly being introduced.
The plant had several sanatoriums and rest homes where the workers could spend
their holidays.
The pupils were much impressed by their visit to the plant and learned many
interesting things about up-to-date equipment.
[ToctaBbTE 5 BOIPOCOB K TEKCTY.
Make up the story about choosing the profession. Your future plans using given
expressions:
1) after graduating from the vocational school - nocne okonuanus [1TY;
2) 1'd like to get work at... - MHE OBl XOT€JIOCH MOIYYUTh paboTy Ha (B) ...;
3) I'm going to be... - 1 cOOUPAIOCH CTATh;
4) I want to enter the institute - 1 X049y TTIOCTYIIUTh B UHCTUTYT;
5) entrance exams - BCTYIUTEIbHbBIE 9K3aMEHBI;
6) a full-time student - CTyAeHT JHEBHOTO OTICJICHHUSI;
7) a half lime student - CTyI€HT BEYEpHETO OTACIICHUS;
8) a fitter (a bench worker) - cnecapp;
9) a technician - TexXHUK;
10) a mechanic - MexaHUK;
14) a welder — cBapuuk.

Bapuant Ne2
3axanue:
Read and translate the text:
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OUR WORK AT THE PLANT

I study at the college. I have practice on my profession at a big plant. My work is
interesting and important. I am fond of my work. The workers of the plant fulfill
and over fulfill the plan. The automation is introduced in many shops. The

production is being constantly increased. My friends and I take part in social life of

the plant.

I study and work three days a week. I'm learning many subjects. My favourite
subjects are Physics and Literature. Besides, we have many special subjects. |
study a trade of a turner and I operate a modern universal lathe. My foreman is an

old worker. He is a skilled worker. He performs the most difficult operations.

After graduating from the college I'm going to become a mechanic and study at

the institute.
Answer the questions:

1.Where do you study?

2.Where do you work?

3.Is your work interesting and important?
4.Do you take part in social life of the plant?
5.What subjects do you learn at the college?
6.What trade do you study?

7.What are your future plans?

Pazgen 7. «IIpou3BOACTBO U TEXHUKA 0€30MIACHOCTI)
Bapuanr 1
3ananmue:

safety engineering - TeXHUKa O€30MIaCHOCTH
accident - HECUACTHBIN cllydait

safety rules - mpaBUIa TEXHUKH

lack - HexBaTKka, OTCYTCTBHE O€30MaCHOCTU
training workshop - yaeOHbIH 11eX (MacTepcKkasi)
to ensure — o0ecrie4uBaTh

Change the Russian words into the English ones:
This was necuacmmuwiii cayuail.

All people should keep mexnuxy 6ezonacnocmu.
Do you know npasuna mexnuxu?

We work in macmepcrou.

I o6ecneyusaro safety engineering.

Read and translate the text:
SAFETY ENGINEERING
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Accidents to people in industrial enterprises are called industrial traumatism
(injury). They occur when workers have not acquired the requisite for skill and
lack the necessary experience in handling tools and equipment. Accidents are also
caused through neglect of safety rules and regulations in the factories and training
workshops.

The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
When taking up new duties or when first going to work at any industrial enterprise
each worker is obliged to acquaint him thoroughly with, and to master the safety
instructions.

Answer the questions.

1.How are the accidents to people in industrial enterprises called?
2.When do the accidents to people occur?

3.What must one do to prevent accidents?

4.What is the purpose of safety engineering?

5.What is a worker obliged to do when taking up new duties?

Bapuant 2

3aganue:

Find the Russian equivalents:

1.quantity a. )KECTKUM (KECTKOCTh)
2.alloy b. yrinepon

3.carbon C. pacTshKeHue
4.substance d. monomka
5.tough(ness) €. KOJIMYECTBO
6.hard(ness) f. KOBKOCTB

7.ductility g. pa3phIB
8.malleability h. mpouHOCTB

9.tension 1. BA3KOCTh
10.compression J. CIUIaB

1 1.rupture k. TBepbIii (TBEPAOCTD)
12.strength 1. cxxaTue

13.braking m. BEUIECTBO

Translate the words into Russian:
metal, industry, industrial, absolutely, laboratory, steel, elastic, mechanical, result,
atom, atomic, structure, special, temperature.

Read the text and do the tasks:
METALS

Mankind has used metals for centuries in gradually increasing quantities but only
now they are employed in really great quantities.
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Today we know more than seventy metals, the majority of which are used in
industry.

Of all the metals iron is the most important one. Absolutely pure iron is never
prepared except for laboratory purposes. The irons and steels in use today are
really alloys of iron, carbon and other substances. They can be made elastic, tough,
hard, or comparatively soft.

Mechanical properties of metals are the result of their atomic structure. They
include hardness, ductility and malleability which are of special importance in
engineering.

Ductility is the capacity of a metal to be permanently deformed in tension without
breaking.

Malleability is the capacity of a metal to be permanently deformed by compression
without rupture.

These properties are similar to each other but not the same. Most metals increase
these properties at higher temperatures.

The strength of a metal is the property of resistance to external loads and stresses.
These mechanical properties are of great importance in industrial purposes
because all parts and units made of iron and steel must meet up-to-date demands.

Match the questions and the answers:

1.What is the most important a. The capacity of a metal to be permanently
metal? deformed in tension without breaking.
2.What mechanical properties of b. Iron.
metals do you know? c. The capacity of a metal to be deformed by
3.What is strength? compression without rupture.
4.What is ductility? d. The property of a metal to resist to external
5.What is malleability? loads.

e. Hardness, ductility and malleability.

Complete the sentences:

1.The most important metal in use today is....

a) carbon

b) iron

c¢) some other metal

Ductility is the capacity....

Malleability is the capacity of a metal....

The strength of a metal is the property....

a) to be permanently deformed in tension without breaking
b) to be permanently deformed by city of compression without rupture
c) to resist to external loads and stresses

Paznen 8. «ABTOMOOMJIM H IPy30NEpPEeBO3ZKN»
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KonTtpoJabHnoe 3aganne Nel
Bapuanr 1
3ananue:
Match the words and their meanings:

1.ferrous metals a. IPOBOAUMOCTD

2.cast iron b. yrineponucras craib
3.carbon content C. U3BHOCOCTOMKOCTH
4.alloy steel d IpoYHOCTE.

5.carbon steel . 00pabaThIBa€MOCTh (Ha CTAHKE)
6.strength f. >KeCTKOCTb.

7.hardness g JKeJe30

8.ductility h. crinas

9.machinability 1. YUepHbIE METaJIbI
10.resistance to wear J.9yTYH

11.conductivity k. comepkanue yriepoaa
12.iron 1. KOBKOCTB

13.silicon m. JISTUPOBAHHAS CTaJlb
14.alloy n. KpEMHUU
15.rust-resistant 0. HEePIKaBEIOITUI

Translate the words into Russian:
metal, element, industry, steel, material, industrial, electronic, magnetic, type,
chemical, mechanical, rocket, automobile.

Read and translate the text:

FERROUS METALS AND STEELS
Ferrous metals consist of iron combined with carbon, silicon and other elements.
But carbon is the most important element in ferrous alloys.
Ferrous metals are used in industry in two forms: steel and cast iron, which differ
in the quantity of carbon content.
Alloys consist of a simple metal combined with some other element. Steel is a
ferrous material having some carbon content. There are two kinds of steel: carbon
steel and alloy steels.
Carbon steel should contain only iron and carbon without any other alloying
element.
Alloy steels are those in which in addition to carbon an alloying element is
present. These alloying elements have an effect on the properties of steel. They
increase its strength and hardness, for example, high percentage of chromium
makes steel rust-resistant, and we call it "stainless steel".
Strength, ductility and machinability are the most important industrial and
commercial properties of steel. Such properties as resistance to wear, electrical
conductivity, and magnetic properties are important in special uses of metals.
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According to their chemical and mechanical properties steels may be used in
different branches of industry, for example, in machine building, rocket

engineering, automobile industry, etc.

Match the questions and the answers:

1.What elements do ferrous metals
consist of?

2.What is carbon steel?
3.What arc alloy steels?
4.What are the most
properties of steel?

5.In what branches of industry are steels
used?

important

a.Steels in which in addition to carbon
an alloying element is present.

b.In machine building, automobile
industry, etc.

¢.Of iron combined with carbon, silicon
and other elements.

d.It contains only iron and carbon.
e.Strength, ductility and machinability.

Bapuanr 2
3ananmue:
Match the words and their meanings:

1.lustre a. OKpyXKaromias cpesia
2.property b. 3amumare ot
3.quantity C. IOJIBEpraThCsi

4.conductivity
5.solid state

6.brittle f.0meck
7.undergo g. CIUIaB
8.to protect from h. cBoiicTBO

9.environment
10.alloy

11.poor conductor
12.distinction
13.strength
14.hardness

k. xpynkuit

n. pa3andue

Translate the words into Russian:

1. mpouHOCTH
m. JKECTKOCTh

d rmI0X0¥ NpOBOTHUK
€. KOJIMYECTBO

1. IPOBOJUMOCTD
j TBEpPI0E COCTOSIHHE

metal, metallic, electricity, electric, fact, group, rocket, construction, element,
material, corrosion, chemical, electromechanical, product, steel, organic, barrier,

industry.

Read, translate the text and do the tasks:

METALS AND NONMETALS
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There are some distinctions between metals and nonmetals. Metals are
distinguished from nonmetals by their high conductivity for heat and electricity, by
metallic lustre and by their resistance to electric current. Their use in industry is
explained not only by those properties, but also by the fact that their properties,
such as strength and hardness, can be greatly improved by alloying them with other
metals.

There are several important groups of metals and alloys. The common metals such
as iron, copper, zinc, etc. are produced in great quantities.

The so-called precious metals include silver, gold, platinum and palladium. The
light metals are aluminum, beryllium and titanium. They are important in aircraft
and rocket construction.

Many elements are classified as semimetals (bismuth, for example) because they
have much poorer conductivity than common metals.

Nonmetals (carbon, silicon, sulphur) in the solid state are usually brittle materials
without metallic lustre and are usually poor conductors of electricity. Nonmetals
show greater variety of chemical properties than common metals do.

Metals can undergo corrosion, changing in this case their chemical and
electromechanical properties. In order to protect metals from corrosion the
products made of metals and steel are coated by some films (coatings). Organic
coatings protect metals and steel from corrosion by forming a corrosion-resistant
barrier between metal or steel and the corrosive environment.

Match the questions and the answers:

1.By what properties are metals |a.lron, copper and zinc.

distinguished from nonmetals? b.They are usually poor conductors of
2.What common metals are produced in | heat and electricity

great quantities? c. They are coated by some organic
3.What metals are called light? coatings.

4.What properties do nonmetals have? | d. High conductivity for heat and
5.What is done to protect metals from | electricity.
corrosion? e. Aluminum, beryllium and titanium.

KonTtpoabHoe 3axanne Ne2

Bapuanr 1

3aganue:

Match the words and their meanings:

1.grinder a. KpOHIUTENH

2.lever b. 3aroroBka

3.wheel slide C. MPOJIOJIbHOE HAIpaBJIeHUE

4.cross-feed d. HamaXXWBaTh CTAHOK (07151 KAKOU-1. pabomyi)
5.wheel spindle €. peryJIMpoBaTh

6.bracket f. mngoBabHBINA CTAHOK

7.wheel head g. NUTUQOBATILHBIN CYNIIOPT
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8.to clamp h. peraar

9.to set-up 1. IoTnepeyvHast nojaya

10.to adjust j. mmudoBanbHas roJOBKa
11.longitudinal direction k. mmuHaens mudoBabHOTO Kpyra
12.work piece 1. 3axumaTh

Translate the words into Russian:

universal, cylinder, type, mass, massive, construction, hydraulic, control, function,
spindle, motor.

Read the text and do the tasks:

THE HYDRAULIC GRINDER
This universal grinder is designed for grinding cylindrical holes and faces of work
pieces. It is widely used for lot production in various types of machine building
plants.
Machines of this type are of very massive construction, but they are designed in
such a way that they can be operated as easily as machines of smaller sizes.
They are hydraulically operated and controlled by a single lever located at the front
end of the machine. This single lever controls all functions of the machine
including all movements of the wheel slide, cross-feed, starting and stopping the
work of the spindle.
The wheel spindle is driven by a V-belt from a motor located on a bracket on the
wheel slide. The cross-feed for the wheel slide is operated by a hydraulic unit.
The wheel head is clamped on the top surface of the table. When setting up the
grinder, the wheel head can be adjusted in a longitudinal direction to suit the length
of the work piece.

Match the questions and the answers:

1.What operations are the universal grinder | a.By a hydraulic unit.

designed for? b.For grinding cylindrical holes of
2.What mechanism controls the movements | work pieces.
of the wheel slide and cross-feed? ¢.On the top surface of the table.

3.By what unit is the cross-feed for the wheel | d. The lever.
slide operated?
4. Where 1s the wheel head clamped?

Bapuant 2

3aganue:

Match the words and their meanings:

l.mechanical engineer a. TIOJITHI CPOK CITY>KOBI

2.to deal (with) b. 3amycTUTh B MacCOBOE MPOU3BOJICTBO
3.designing cars C. MOJIBEpraTh UCIBITAHUSIM

4.to put into mass production d. mnaBHOE clieTieHne
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5. long service life €. OTBE€YaTh COBPEMEHHBIM TPEOOBAHUSIM

6.driving safety f. umets geno (c kem-n., yem-i.)

7.to meet up-to-date demands g. HaJIeKHBIE TOPMO3a U PYJIEBOE
yIpaBJICHUE

8.smooth-acting clutch h. 6e3omacHOCTh €3/1bl (BOXKICHUS)

9.silent gearbox 1. OecurymHasi KOpoOka repeaay

10.dependable brakes and steering

system J. MH)KCHEP-MEXaHUK

11.to subject to tests k. KoHCTpyHpOBaHUE aBTOMOOMIICH

Translate into Russian:

mechanical, mechanism, specialist, industry, phase, technology, process,
laboratory, test, fact, automobile, engineer, method, principle, corrosion, type,
material, comfortable.

Read the text and do the tasks:

AUTOMOBILE PRODUCTION
1.Specialists in automobile industry deal with designing and manufacturing cars,
so they should know that the production of the automobile comprises the following
phases:
Designing,
Working out the technology of manufacturing processes,
Laboratory tests,
Road tests.
Mass production (manufacturing).
2.Why is it necessary to know all these facts?
It is important to know them as before the automobile (car or truck) is put into
mass production, it should be properly designed and the automobile must meet up-
to-date requirements.
3.What are these requirements?
The automobile must have high efficiency, long service life, driving safety, ease of
maintenance and pleasant appearance.
In order to obtain all these qualities engineers should develop up-to-date methods
of designing cars, using new types of resistant to corrosion light materials. Also it
1s important to know computer science because it is intended to shorten the time
between designing and manufacturing. Computers offer quick and optimal
solutions of problems.
But before the car is put into mass production all its units and mechanisms are
subjected to tests, first in the plant's laboratory, then the car undergoes a rigid
quality control in road tests. Only then the car is put into mass production. Why are
these tests required? What qualities are required of the automobile? The modern
automobile must be rapid in acceleration, must have smooth acting clutch, silent
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gearbox, dependable brakes and steering system, as well as pleasant appearance.
Also it must be comfortable and have all conveniences.

Match the questions and the answers:

1.What phases does the
production of the
automobile comprise?
2.What requirements must
the automobile meet?
3.Why are cars subjected to
road tests?

4.What qualities are
required of the automobile?
5.Why is it important for
the specialists in
automobile  industry to
know computing methods?

a. It must have high efficiency, long service life,
driving safety, ease of maintenance and pleasant
appearance.

b. They should be able to develop up-to-date
methods of designing cars and shorten the time
between designing and manufacturing.

¢ Because they must meet up-to-date requirements.

d. Designing, working out technological
processes, laboratory and road tests, mass
production.

e. It must be rapid in acceleration, must have

smooth acting clutch, silent gearbox, dependable
brakes and steering system.

5.  KOHTPOJIbBHO-OHEHOYHBIE CPEACTBA 1JIsA
MPOMEXYTOUYHOM ATTECTALIMA

Banam/m AJIA l'IpOMe)KyTO‘IHOﬁ arrecranmmmu

Bapuant Ne 1

HNucTpykums 1Jis1 00y4arommxcs:
IIpounTanTe TEKCT, EpEBEAUTE CO CIOBAPEM, OTBETHTE HA BOIIPOCHI U BHIIIOJIHUTE

3a1aHus.
3aganus

1. Match the words and their meanings:

body

car wheels

power train
power plant
springs

steering system
clutch

final drive

engine crankshaft
push down the pedal
brakes are applied
frame with axles
fuel system

a. TOpMO3a CpabaThIBAIO

b. cuoBas mepemaya

C. TJaBHas mepenaya

d. xoyieHuUaThIi BaJl IBUraTElb
€. HOKMMAaTh Ha Meab

f. cunioBast ycraHoBka

g. KoJieca aBTOMOOMIIS

h. pama c ocsimu

1. TOIUIUBHAS CUCTEMA

J- pyJieBas cucrema

k. cuenienue

1. BcmoMorarenbHbIE YCTPOUCTBA
m. CHCTEeMa CMa3KH
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lubricating system n. Ky30B
accessories 0. peccopsl

2. Translate into Russian:
automobile, chassis, speedometer, electric, system, cylinder, cardan, control,
hydraulic, pedal, accessories, differential.

3. Read. Translate the text and do the tasks:

COMPONENTS OF THE AUTOMOBILE
Basically, the automobile consists of three parts: the power plant, or the engine, the
chassis and the body. To these may be added the accessories: the heater, lights,
radio, speedometer and other devices.
The power plant or engine is the source of power that makes the wheels rotate and
the car move. It includes electric, fuel, cooling and lubricating systems. Most
automobile engines have six or eight cylinders.
The chassis consists of a power train, frame with axles, wheels and springs. The
chassis includes brakes and steering system.

The power train carries the power from the engine to the car wheels and contains
the clutch, gearbox, propeller or cardan shaft, differential and the final drive.

The clutch is a friction device connecting (or disconnecting) the engine crankshaft
to the gears in the gearbox. It is used for freeing the gearbox from the engine and is
controlled by the clutch pedal.

Brakes are important mechanisms of the car. They are used to slow or stop the car.
Most braking systems in use today are hydraulic. They are operated by the brake
pedal. When the driver pushes down on the brake pedal, they are applied and the
car stops.

4. Match the questions and the answers:

1. What are the main basic parts of | a. The clutch, gearbox, cardan shaft and the
the automobile? final drive.

2. What does the chassis consist of? | b. Freeing the engine from the gearbox.

3. What units does the power train ¢ The power plant, the chassis and the body.

contain? d. A power train, frame with axles, wheels
4. What is the function of the and springs.
clutch? e. To slow or stop the car.

5. Why are brakes needed?

5.Complete the sentences:

1.The mechanism used for stopping the car is....
2.The mechanism used for changing the speed is....
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a) clutch

b) gearbox

c) brakes

3. The mechanism used for connecting (or disconnecting) the engine from the
gearbox is ....

a) brakes

b) clutch

c) steering system

4. The unit carrying the power from the engine to the car wheels is....
a) power plant

b) power train

c) chassis

5. The instrument measuring the speed of the car is...

a) heater

b) lights

c¢) speedometer

Bapuanr 2

NucTpykums 1Jis1 00y4arOmmxcs:

N3yuure cioBa, MpoYUTanTe TEKCT, IEPEBEAUTE CO CIOBAPEM, OTBETHTE HA
BOIIPOCHI U BBIIIOJHUTE 3aJaHUs.

3aganus

shape - hbopma

casting - OTJIUBKa

rolling - npokat

welding - cBapka

piercing - IPOXOXKIECHUE

trimming - oOpe3Ka (3a/1e7Ika OTBEPCTHS KPacB)
Spinning - BbIJIaBJIMBaHUE (HA TOKAPHO-IaBUILHOM CTaHKE)
drawing - yepueHue; 30. BBITITHBaAHUE

chuck - 3axuM; TIaTPOH, JepKaTelb

carriage - Kaperka

milling - dbpe3epoBanue

surface - MOBEPXHOCTh

grinding - npobieHue (M3MeTbUeHHME ), TUTH(OBKA
convenient - yTOOHBIN

to equip - CHapsDKaTh, 000PYI0BATh

shaping - npunanue Gopmbl

thread - pe3b0a; Hape3ka

bending — crubanue

headstock - nepennsisi 6abka

tailstock - 3agusis 6a0ka

lathe - TOKapHBIA CTAaHOK
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drilling — cBepneHue

cutting — pe3aHue

high-speed — ckOpocTHOM
efficient — >ppeKTUBHBIHA
forging — KOBKa

boring - OypeHue, cBepicHue
steel - cTanb

Read and translate the texts:
MACHINE-TOOLS
Metal undergoes a number of processes before it is formed into the required shape:
casting, rolling, welding, piercing, trimming, spinning, bending, drawing, etc.
The machines which perform all these kinds of works are called machine-tools.
The most common machine-tool found in almost any workshop is the lathe. The
main parts of it are: the headstock, the chuck, the tailstock, the carriage.
The automatic lathe is a perfection of the ordinary lathe. Its tools are changed
automatically. A worker skilled in the use of a lathe is called a turner.
There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines. Circular holes are drilled by a
drilling machine or bored by a boring machine or a boring mill. Thread milling
machines are used in the production of different machine elements. Gear cutting
machines include gear milling machines. All these machines use cutting tools
made of high-speed steel.
LATHES
There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types. The type of a lathe depends upon the size of
diameter of work pieces.
A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs. It can be
used both in stationary and mobile repair shops, on ships, etc.
DRILLING MACHINES
The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps. Both universal and special-purpose type radial "drills are built.

Answer the questions:

1.What processes does metal undergo before it is formed into the required shape?
2.How are the machines which perform this work called?

3.What is the most common machine-tool in any workshop?

4.What are the main parts of a lathe?

5.What is the automatic lathe?

6.How do we call a worker, skilled in the use of a lathe?

7.What machine-tools that works on plane surfaces, do you know?

8.What do the drilling machines drill?

9.Where are the threads milling machines used?
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10.What are the main types of lathes?
11.What is the most convenient and efficient machine?
12.What are the most drilling machines equipped with?

Bapuanr 3

NucTpykuust 115 00ydaromuxcs:

[IpouunTaiiTe TEKCT, IEPEBEAUTE CO CIOBAPEM, OTBETHTE HA BOMPOCHI U BBHIIOTHUTE
3a/1aHHUS.

3ananus

1.Match the words and their meanings:
l.internal combustion engine a. IOpIIEHb
2.combustion chamber b. BepxHsg MepTBasg TOUKa
3.stroke C. YETBIPEXTAKTHBIN IBUTATEIH
4.piston d. KoJleHYaThIi Baj
5.top dead centre €. OTBEPCTHE KiarnaHa
6.bottom dead centre f. nBUraTenb BHYTPEHHETO CrOpaHus
7.four-stroke cycle engine g. HWXKHSS MEepTBas TOUKa
8.two-cycle engine h. ToruBHas cuctema
9.crankshaft 1. TAKT BOpBICKA (moniusa)
10.intake stroke J. IBYXTaKTHBIA JIBUTATEIIh
11.valve opening k. kamepa cropaHus
12.fuel system 1. xon, TakT (nopwirs)
13.power stroke m. BBIXJION
14.exhaust n. pabouuii X0 NOPIIHS

2.Translate the words into Russian:
cylinder, automobile, limit, centre, cycle, compression, gas.

3.Read, translate the text and do the tasks:

THE ENGINE
The engine is the source of power that makes the car move. It is usually called an
internal combustion engine because gasoline is burned within its cylinders or
combustion chambers. Most automobile engines have six or eight cylinders.
The operating cycle of the four-stroke engine that takes place in the engine
cylinder can be divided into four strokes. The upper limit of the piston movement
is called the top dead centre. The lower limit of piston movement is called the
bottom dead centre. A stroke is the piston movement from the top dead centre to
the bottom dead centre or from bottom dead centre to the top dead centre. In other
words, the piston the completes a stroke each time it changes the direction of its
motion.
Where the entire cycle of events in the cylinder requires four strokes (two
crankshaft revolutions), the engine is called a four-stroke cycle engine. The four
strokes are: intake, compression, power and exhaust.
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Two-cycle engines have also been made, and in such engines the entire cycle of
events is completed in two strokes or one revolution of the crankshaft.

On the intake stroke the intake valve is opened. The mixture of air  and
vaporized gasoline is delivered into the cylinder through the inlet valve. On the
compression stroke the inlet valve is closed so that the mixture can be compressed.
On the power stroke both valves (inlet and exhaust) are closed in order to raise
pressure during the mixture combustion. On the exhaust stroke the exhaust valve is
opened to exhaust the

residual gas.

4.Match the questions and the answers:

1.What is the top dead centre?
2.What is the bottom dead centre? | a.When the entire cycle of events is
3.When the engine is called a four- | completed in two strokes.

stroke cycle engine? b.The lower limit of the piston movement.
4.When the engine is called a two- | c.The upper limit of the piston movement.
cycle engine? d.When the entire cycle of events in the
5.What kind of strokes can the cylinder is completed in four strokes.
events in the engine cylinder be e.Intake, compression, power and exhaust
divided into? strokes.

5. Complete the sentences:

1.An internal combustion engine is called so because gasoline is burned....
a) inside the combustion chamber

b) outside the combustion chamber

2. The upper limit of the piston movement is called...
3. The lower limit of the piston movement is called....
a) the bottom dead centre

b) the top dead centre

4. The four-cycle engine requires....
a) two strokes of piston movement
b) four strokes of piston movement

5. The mixture of air and gasoline is delivered into the cylinder....
a) on the power stroke

b) on the exhaust stroke

c¢) on the intake stroke

d) on the compression stroke
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[Tpunoxenue 1. Kitoun K KOHTPOJIBbHO-OIIEHOYHBIM CPEICTBAM ISl TEKYIIETO
KOHTPOJIS

Pazgen 1. CTpanbl M3y4aeMoro si3bika

Tect Nel
BapuanTt Nel
3ananue Nel 3ananue No2
Knrou k 3a0anuam Knrou k 3a0anuam
1 C 1 B
2 C 2 A
4 ¢ 4 B
Bapuant Ne2
3aganne Nel 3aganne Ne 2
Knrou k 3a0anusam Knrou Kk 3a0anusam
1 B 1 C
2 2 A
3 A 3 C
4 C 4 C
5 C 5 C
Tect No2
Bapuant Nel Bapuant Ne2
3aoanue 3aoanue

Knru K 3a0anuam
Knrou k 3a0anusam

1 2 3 4 5 1 P 3 4 5

a b a a a

b a c c a
Tect Ne3
BapuanTt Nel Bapuant Ne2
3amanue 3amanue
Knrwu k 3a0anusam Knrwu k 3a0anusam
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1 3 4 1 |2 3 4 5
A B D C b |e d a c
Tect Ne 4
BapuanTt Nel
3amanue Ne 1 3amanue No2
Knrou k 3a0anuam Knrou K 3a0anuam
1 2 3 4 5
a b a a a 1 2

D E
Bapuant Ne2
3amanue Ne 1 3amanne Ne2
Knrou k 3a0anusam Knrou k 3a0anusam
1 |2 |3 |4 |5 1 2
b a c c a A C

Paspneu 2. U3BecTHBIC JIIOAU KYJbTYPbl U HAYKH

Bapuanr 1
3ananue:
Knwu k 3a0anusam

1 2 3 4 5 6
d e a b f c
Bapuant 2
3ananue:
Knrwou Kk 3a0anuam
1. They are in danger because vast forests are cut down everywhere for the
need of industries.
2. The pollution of the air and the world’s oceans and the thinning the ozone
layer are the most threatening.
3. Yes, there are some.
4. Greenpeace is an International organization.
5. The main ecological problems are the pollution of air, water, disappearing

animals etc.
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Pa3znen 4. Ciopt u 310poBbIii 00pa3 KU3HHU
Bapuanrl

3angaHue

Knrwu k 3a0anuam

1 2 3 4 5 6 7 8 9 10
almost | splash | safety | besides | goggles | racing | ear | prevent | As until
plugs long
as
Bapuant 2
3anaHue

Knwu k 3a0anusam

A

~

9.
10.

Sport plays an important role in the life of teenagers.

Yes, they do.

The problem of obesity is one of the most pressing in the modern world.
One solution that can be put forward is doing sport.

Physical exercises are also the perfect way for emotional release.

To improve school performance it is essential for school children to balance
mental stimulation and physical activity.

There are drinking alcohol, taking drugs, and so on.

. The most popular team sports for teenagers are football, volleyball,

basketball and tennis.

I lead a healthy lifestyle.

A healthy person doesn’t smoke, eats healthy food and prefer doing sports
to watching them.

Paszpgen S. O0b1yau v TpaguumMu

Bapuanrl Bapuant 2
3ananue 3ananue
Knrwu k 3a0anuam Knrou k 3a0anuam

1 2 3 4 5 6 |7 8
L ]2 |3 |4 |5 D |[A |D |B |A |B |A |A
TIT |[T |F |F

Pa3nes 6. Ilpon3BoacTrBo aBToMo0OMIIei
Bapuanrl

3ananue

Kniou k 3a0anuam

ITocemenue 3aBoaa

['pynna mikonbHUKOB coOMpaach MOCETUTh MAIIMHOCTPOUTENBHBIN 3aBod. Mx
BCTpPETWJI TNaBHBIM WHXeHep. OH pacckazall UM HECKOJIbKO CIOB 00 HCTOPUU

3aBoJa

u ero pabote. [locie mpencraBieHwusi, CASIAHHOTO TJIABHBIM WHXCHEPOM,
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YUYCHUKU OBUTM TPUHATHI 3a 1exu. OHM TOCETWIN Ky3HUILY, JTUTEHHBIN IIeX U
IJIaBHBIA COOpOYHBIN KOHBelep. B 1exax oHM HaOmomaiu 3a MPOLECCOM KOBKH,
muThs W cBapku. [llkompHWKaM pacckazaim O TEXHUKE O€30MacHOCTH, IEIbI0
KOTOPOW SIBIISIETCSl TIPEAOTBpAIllEHWE HECUACTHBIX cliydaeB. Bo3gyx B 1mexax
OYUIIAJICS COBPEMEHHBIMHU BEHTHIISITOPAMU U TIHIICYTABIMBAIOIINMY arlliapaTaMu.
OKclepUMEHTalIbHbIe Pa0OThl BENHUCh B OONBIIMX MacmTabax, MOCTOSHHO
BHE/IPSUTHCH TPYIOCOEeperaroIine yCTpoicTaa.
Ha 3aBome ObLIO HECKOTBKO CAaHATOPUEB M JOMOB OT/AbIXa, TAe pabodnme Moriu
TPOBOJUTH CBOW OTITYCK.

YyeHWKHM OBUIM OYEHH BIICYATICHBI IMOCEIMICHWEM 3aBO/a W Yy3HAJIM MHOTO
UHTEPECHOTO O COBPEMEHHOM 000PY/IOBaHUH.

Bo3moxxHBIE BApHAHTHI BOMPOCOB K TEKCTY:

1. What plant was a group of pupils going to visit?

2. What did they visit at the plant?

3.What new things did the pupils know about the plant?
4.Where could the workers spend their holidays?

5. The visit to the plant was interesting, wasn’t it?

Bo3MoxHBIN BapuaHT pacckasa:

I’m a full- time student. I'm going to be a technician. After graduating from the
vocational school I want to enter the institute. I hope I will pass entrance exams
successfully . I’d like to get work at the mechanic- construction plant.

Bapuant 2
3ananue
Kurou k 3aganusam
Hama pa0ora Ha 3aBoae

S yuych B Kotemke. Y MEHs €CTh IpakTUKa [0 MOel npodeccuu Ha O0JIbIIOM
3aBozie. Most pa0oTa MHTEepecHa U BakHa. S oueHb 1000 cBOKO pabory. Paboune
3aBO/Ia BBIMOJHSIOT M TMEPEBBINOIHAIOT IUIaH. ABTOMaru3alus BHEIpPEHa BO
MHOTUX Iexax. IIpou3BOACTBO MOCTOSIHHO YBeau4uBaeTcsi. Mbl ¢ JIpy3bsiMU
NPUHUMAEM y4yacTHe B 0OIIECTBEHHOM KU3HU 3aBOJIA.

S yayce u paboratro Tpu IHsA B Hedenmto. S m3yuyaro MHOro mpeameroB. Mou
moOuMeble npeameTsl-pu3uka u sureparypa. Kpome Toro, y Hac €cTb MHOIO
CHelMANbHBIX MpenMeroB. S wu3ydaro mnpodeccuro TOoKapss U YIPaBIsio
COBPEMEHHBIM YHUBEPCAJIbHBIM TOKapHBIM CTaHKOM. Moil Opuraaup-crapblii
pabounii. O kKBaMMPUIMPOBaHHBIH pabOTHUK. OH BBHITIOTHSIET CaMble CIOKHBIC
OTlepalUu.

[locne oxoHuUaHWs KOMJIEMKa S COOHMpAlOCh CTarb MEXaHUKOM M YYHUThCA B
UHCTUTYTE.
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OTBeTHI Ha BOMPOCHI:

1.1 study at the college.

2. I have practice on my profession at a big plant.

3.Yes, it is.

4. Yes, 1 do.

5. I'learn (study) many subjects at the college.

6. I study a trade of a turner.

7. After graduating from the college I'm going to become a mechanic and study at
the institute.

Pazgen 7. IIpou3BOACTBO U TEXHUKA 0€30MACHOCTH
Bapuanr 1

3amanue

Kirou k 3aianusam:

1. This was an accident.

2. All people should keep safety engineering.

3. Do you know safety rules?

4.We work in the training workshop.

5. L ensure safety engineering.

Texnuka 0e30macHOCTH

HecuacTtabie cimyyau ¢ TIOMbMH Ha TPOMBINUICHHBIX MPEANPUITHSIX HA3BIBAIOTCS
IIPOU3BOJCTBEHHBIM TpaBMaTu3MoM. OHM BO3HUKAIOT, KOrla paOOTHUKU He
npuoOpenu HeoOXOJUWMBIX HABBIKOB M HE HUMEIOT HEOOXOAMMOIo OmbiTa B
oOpalieHuy C WHCTPYMEHTaMH W oOopymoBaHueM. HecuacTHbie ciiydaum Takxke
BBI3BaHBI MPEHEOPESIKEHUEM TIPaBUIaMU M HOpMaMU O€30TaCHOCTH Ha 3aBO/ax M B
y4eOHBIX MaCTEPCKHX.

[lenpto TeXHUWKH OE30MACHOCTH SIBISETCS MPENOTBpPAIICHHE HECYACTHBIX
CIy4aeB M CO3JIaHHE TaKUX YCIOBHA Tpyda B MPOMBIIIICHHOCTH, KOTOpPHIC
o0ecreyar MaKCUMaJIbHYIO MPOU3BOAUTEIILHOCTD TPY/A.

[Tpuctymas Kk HOBBIM OOSI3aHHOCTSIM HJIM BIIEPBBIC MPUCTYIIasi K paboTe HA JTFOOOM
NPOMBINIJIEHHOM — TPEINPUSATAN, KaXIbld pabOTHUK 00s3aH  JTOCKOHAJIBHO
O3HAKOMHTH €T0 C MHCTPYKITUSIMH TI0 TEXHUKE O€30MacCHOCTH.

OTBeThI Ha BOIIPOCHI:

1. Accidents to people in industrial enterprises are called industrial traumatism
(injury).

2. They occur when workers have not acquired the requisite for skill and lack the
necessary experience in handling tools and equipment.

3.0ne must keep to the safety rules.

4. The purpose of safety engineering is to prevent accidents and to create such
conditions of work in industry which will ensure maximum productivity of labour.
5. When taking up new duties or when first going to work at any industrial
enterprise each worker is obliged to acquaint him thoroughly with, and to master
the safety instructions.
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Bapuanr 2
3amanue
Kirou K 3ajaHusim:

1 2 3 4 5 6 7 8 9 10 |11 12 |13

e ] b m a k 1 f c 1 g h d

IIepeBon cioB:
Meras, OpOMBIIUIEHHOCTh, MPOMBIILUICHHBINA, a0COMIOTHO, Ja00paTopus, CTalb,
TUOKMIA, MEXaHHMYECKHH, pe3yiIbTaTr, aToM, aTOMHBIM, CTPYKTypa, CHEIHaIbHBIN,
TeMIieparypa.

MeTtaiabl
3aanue
Kuarou k 3aganusam

~
)
W
BN
D

~
(NS}
o
BN

Paznen 8. CoBpeMeHHBbII aBTOMOOMJIb

KonTtpoJsbHoe 3aganue Ne 1
Bapuanr 1

3ananue

Kuarou k 3aganusam:

1 2 |3 4

(O
N
Co
o

10 |11 |12 |13 |14 |15

>
QU

f

~
Q
o

oQ
S
=
Q

i i k m

IlepeBona cJjioB:

Meraui, 3JIEMEHT, MPOMBIIIIIEHHOCTD, CTAJIb, MATEPUAII, IPOMBILIJICHHBIM,
3JICKTPOHHBIN, MArHUTHBIN, TUIl, XUMUYECKUN, MEXaHUYECKHUI, paKeTa,
aBTOMOOMIIb.

YepHble MeTAUIBI U CTAJH
UepHble METaIBI COCTOAT U3 XKEJIe3a B COYECTAHUU C YIIIEPOAOM, KPEMHUEM U
Apyrumu 3jieMeHTamu. Ho yriepon sABisieTCsT camMblM BaXXHBIM JJIEMEHTOM B
YEPHBIX CIUIaBax.
YepHble MeTaUThl UCTIOIB3YIOTCS B MPOMBIIINIEHHOCTH B JIBYX (hopmax: cTajib |
YyT'yH, KOTOPbIE OTINYAOTCS MO KOJIMYECTBY COAEPKaHUS yIIIepoaa.
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CmiaBel COCTOAT M3 MPOCTOrO MeETajlyla B COYETAHUM C KaKUM-TO APYrUM
3neMeHTOM. CTalb-3TO KENEe3UCThI MaTeprall, UMEIOIIUNA HEKOTOPOE COAEPKAHNE
yriepoaa. CyllecTByeT JBa BHJla CTalM: YIJIEPOAMUCTAasl CTaldb U JISTUPOBAHHbBIC
CTaju.

VYrneponucras craib JOJKHA COJEPKAaTh TOJIBKO KEJNe30 U yriieposa 0e3 Kakoro-
a100 APYToro JErUPYIOUIEro AIeMeHTa.

JlerupoBaHHBIE CTAIM-3TO TE€, B KOTOPBIX IOMHUMO VIJIEpOJa NPUCYTCTBYET
JETUPYIOIIUN 3JIEMEHT. JTU JIETHUPYIOIINE 3JIEMEHThl OKa3bIBAIOT BJIUSHHE HA
cBorictBa cTainu. OHHM MOBBIIAIOT €ro IMPOYHOCTh M TBEPAOCTh, HAIPUMED,
BBICOKMM MPOLIEHT XpOMa JElaeT CTallb CTOMKOW K KOPPO3WH, U MBI HAa3bIBAEM €€
"HeprkaBerolas cTajip'.

[IpouHOCTh, MIACTUYHOCTH U 00pabATHIBAEMOCTH SIBJISIIOTCS HaOOJee BaXKHBIMU
MIPOMBILUJICHHBIMU U KOMMEPYECKHMHU CBOMCTBAMM CTAJIM. Takue CBOMCTBA, Kak
U3HOCOCTOMKOCTD, 3JIEKTPOINPOBOJIHOCTh U MAarHUTHBIE CBOMCTBA MMEIOT Ba)KHOE
3HAYEHHE NPU CIIEIIUATBHOM UCIIOJIb30BAHUU METAJIOB.

ITo cBOMM XMMHYECKUM M MEXaHUYECKUM CBOWCTBAM CTaJId MOT'YT IPUMEHSATHCS B
Pa3IMYHBIX OTPACHSAX MPOMBIIIJICHHOCTH, HAaNpuMep, B MAaIIUHOCTPOCHUH,
PaKEeTOCTPOCHUHU, AaBTOMOOUIILHOMN ITPOMBIIILIIEHHOCTH | JIp.

2 3 5
C d a e b
Bapuant 2
3ananue
Knrou k 3a0anuam
2 3 4 5 6 7 8 9 10 |11 12 |13 14

| —

h e 1 ] k Cc b a g d n 1 m

Ilepesoo cnoes:
MeTalljl, METAJNIMYECKUH, JIEKTPUUECTBO, FNEKTpUUEeCcKuil, pakT, rpymnmna, pakera,
KOHCTPYKIIMS, DJIEMEHT, MaTepUal, KOPPO3Hsl, XUMUYECKH,
ANEKTPOMEXAaHUYECKUI, TPOAYKT, CTallb, OPraHUYECKUM, Oapbep,
IPOMBIIIIEHHOCTD.

MeTa/ibl 1 HEMETAJLIbI
CymecTByrOT HEKOTOPBIE pa3jIMuus MEXy METaJUIaMU U HEMeTaJlaMu. MeTasuisl
OTJINYAIOTCA OT HEMETAJUIOB CBOEH BBICOKOW MPOBOAUMOCTBIO I TEIUIA WU
ANEKTPUYECTBA, METAUIMYECKUM OJIECKOM U CONPOTUBIECHUEM 3JIEKTPUUYECKOMY
TOKy. VX mHpuUMeHEeHHE B IPOMBIIIJICHHOCTH OOBACHAETCS HE TOJIBKO 3TUMHU
CBOMCTBaMH, HO M TEM, YTO HX CBOWCTBA, TAKWE KaK MPOYHOCTb U TBEPIOCTH,
MOTYT OBITh 3HAUUTENBHO YIYYIIEHbl IyTEM JIETUPOBAHUA UX JAPYTUMHU
METaJUIaMU.
Cyl1iecTByeT HECKOJIbKO Ba)KHBIX I'PYII METAUIOB U CIUlaBoB. OOIne MeTauibl
KaK YTIOT, M€/lb, LINHK, €tC. BBIITYCKAIOTCA B OOJIBIINX KOJINYECTBAX.
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K Tak Ha3plBaeMBIM JparoleHHBIM METaJlJlaM OTHOCSATCA cepedbpo, 30J0TO,
mwiaTuHa W namanuil. Jlerkue meramibl-AntoMuHUNA, bepumnuii u tutad. OHH
BA)KHBI B aBUACTPOCHHUU U PAKETOCTPOECHHUH.

MHorue 3neMeHTbl KIacCU(UUUPYIOTCS KaK MOJTyMETauibl (BUCMYT, HaIpUMeED),
MOTOMY YTO OHU HMMEIOT ropa3jo 0ojiee HU3KYIO MPOBOAUMOCThH, YEM OOBIUHBIC
MeETaJUIbL.

Hemerannbl (yraepo, KpeMHHI, cepa) B TBEPAOM COCTOSHHM OOBIYHO SIBIISIIOTCS
XpYIKAMH MaTepuajiaMu 0€3 METAUTMYECKOro Oyiecka U OOBIYHO SIBIISIIOTCSA
IUIOXMMHU TPOBOJHUKAMHU dJeKTpuyecTBa. Hemeramnsl mOposBiIAOT Oosibliee
pazHooOpa3re XUMUIECKUX CBONCTB, YeM OOBIYHBIC METAJLIIHI.

Meraniabsl MOT'YT OABEPTaThCsl KOPPO3UU, U3MEHSS [P 3TOM CBOU XUMUYECKHUE U
3JIEKTPOMEXAHUYECKHUE CBOMCTBA. JJIsl 3a1IMTHl METAJUIOB OT KOPPO3UU U3JIENHUS U3
METaJUIOB W CTaJIM TOKPBHIBAIOTCA HEKOTOPHIMU IUIEHKAMHU (TIOKPBITUSIMH).
Opranudeckue MOKPHITUS 3allUIIAlOT METaulbl U CTalb OT KOPPO3WH, 00pa3ys
KOPPO3UOHHO-CTOMKHI Oapbep MEXIy METANIOM WIH CTaldbl0 U KOPPO3HMOHHOU
CpEIOu.

1 2 3 4 5
a b

KonTtpoJsbHoe 3aganmne Ne 2

Bapuanr 1

3amanue

Knrou k 3a0anuam:

1 2 3 4 5 6 7 8

\O
—
(]
f—
f—
f—
\)

h g i k a ] 1 d e C

Ilepesoo cnoa:
YHUBepCcAIbHBIN, HWIUHAP, TUI, MACCA, MACCUBHBIN, KOHCTPYKIIHUS,
TUAPABINICCKAMN, KOHTPOJIb, (DYHKITHS, IIITHH]IEIb, MOTOD

['mapaBiuyeckuil U3MENBUYUTEND

Orta yHHUBepcasbHas nuiddoBaibHasi MallMHA IpeJHa3HaYeHa i MUTU(POBAHUS
UWINHAPUYECKUX OTBEPCTHM M rpaHed 3aroroBoK. OH MIMPOKO HUCMOJIB30BaH IS
POAYKIUHU CEPUH B PA3IMYHBIX TUIAX 3aBOJOB MALLIMHOCTPOCHHUS.

MamuyHbl 3TOr0 THUIIAa MMEIOT OYEHb MACCUBHYIO KOHCTPYKLHIO, HO OHHU
CKOHCTPYHUPOBAHBI TAKUM 00Pa30M, YTO UMM MOKHO YIPABIISTH TaK )K€ JIETKO, KaK
Y MalllMHAMW MEHBIIIUX Pa3MEPOB.
OHM TUAPABIMYECKH  YOPABISAIOTCA W YNPABISIIOTCS  OJHUM  PhIYAroM,
pacnoJIOKEHHBIM Ha TMEpeJHEd YacTH MallWMHbBl. OJTOT OJWHOYHBIA pblYar
KOHTPOJIUpPYET BCcE€ (QYHKIMM MAIIMHBI BKJIIOYas BCE JBMIKEHMS CKOJIbKEHUS
KoJieca, IOMEePEUHO MoAaur, HAaUMHATh U OCTAHABJIMBATH PAOOTY IIMTHH/IES.
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[InuHaens Koneca ynpaBisieTcsd KIMHOBBIM PEMHEM OT MOTOpPA PaCIOI0KEHHOTO
Ha KPOHIINTEWHE Ha CKOJbXEHHHU Kojeca. [lomepeuHasi momada Jjisi CKOJIBKEHUS
KOJIeca YIpaBiIseTCsl TUAPABINISCKAM OJIOKOM.

l'onoBka Kkojeca 3akaTa Ha BepxHEH mNoBepxHOCTH Tabiuubl. [Ipu HacTpoiike
HUTH(QOBAIILHOIO CTAHKA TOJOBKA KOJIECA MOXKET PEryJIHpOBaThCS B MPOJOJIBHOM
HANpPABJICHUH B COOTBETCTBUH C JITMHOM 3aTOTOBKH.

1 2 |3 |4
b d [a |c
Bapuant 2
3aoanue
Kuarou x 3aganuam:
1 2 3 4 5 6 8 9 10 11
] f k b a h t d 1 g c

Ilepesoo cnos:

Mexanuueckuti, Mexanuzm, CReyualucm, NPOMbIULIEHHOCMb, (a3a, MmexHoI02us,
npoyecc, 1abopamopus, mecm, pakm, asmomooUnsb, UHICEHED, MEmOO,
NPUHYUNUATBHBIL, KOPPO3UsL, MUN, MAMeEPUan, KOMPOPMHbIIL.

ABTOMOOMJIbLHOE POU3BO/ICTBO
1.CrnennanucTel aBTOMOOMJILHON MIPOMBIIIIIEHHOCTH 3aHUMAalOTCS
NPOEKTUPOBAHUEM M W3TOTOBJIECHHUEM aBTOMOOWIIEH, TOITOMY OHU JIOJIKHBI 3HATh,
YTO MPOU3BOACTBO aBTOMOOMIISI BKJIFOUAET B CE0S1 CIEYIOLIUE ITAIIbI:
[IpoekTupoBanue,
Pa3paboTka TeXHOIOruM MPOU3BOACTBEHHBIX MIPOIIECCOB,
JIaGopaTopHBbIe TPOBEPKH,
JlopOoKHOE UCTIBITAaHHUE.
MaccoBoe nmpou3BOACTBO (M3rOTOBIICHUE).
2.3auem HY>KHO 3HATh Bce 3TU (HaKThI?
BaxxHO 3HaTh MX, TaK KakK MPeXJIe 4YeM aBTOMOOWIb (JIETKOBOW WJIM T'PY30BOM)
OydeT 3amylieH B CEpUHHOE NPOM3BOACTBO, OH JOJDKEH OBITh MPaBUIBHO
CIPOEKTHPOBAH U COOTBETCTBOBATH COBPEMEHHBIM TPEOOBAHUSIM.
3.KakoBbl 3T TpeOOBaHMS?
ABTOMOOWIIb JTOJIKEH 00J1ajaTh BBICOKON NPOM3BOAMTEIBHOCTBIO, JUIMTEIbHBIM
CPOKOM CIIy’KObI, O€30MacCHOCTBIO BOXKIEHHUS, MPOCTOTOM OOCIYKUBAaHUA U
MPUSATHBIM BHEITHUM BUJIOM.
JUist monydeHus: BCEX OJTHX KauyecTB HWHXKEHepaM HeoOXoaumo pa3paboTraTh
COBPEMEHHBIE METOJbl MPOECKTUPOBAHMSI aBTOMOOWJIEH, MCIOJIb3Yys HOBBIE BUbI
CTOMKUX K KOPPO3WH JIETKMX MaTepuaioB. Takke Ba)XHO 3HATh MH(POPMATHUKY,
NOTOMY 4YTO OHa TMpeJHa3HaueHa [JJs COKpAlICHUS BPEMEHH MEXIY
NPOEKTUPOBAHUEM M TNPOU3BOACTBOM. KoMIbloTepsl mpeasiaratoT ObICTpble U
ONTUMAJIbHBIE PellleHUs MPOOIIeM.
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Ho mepen 3amyckoMm aBTOMOOWIS B CEpUHOE IMPOU3BOJCTBO BCE €r0 Y3Jbl U
MEXaHU3MbI TOJBEPraloTCs HUCHBITAHUSM, CHayalda B 3aBOJCKOM JabopaTopuu,
3aT€M aBTOMOOWJIb MPOXOJIUT >KECTKHM KOHTPOJb KauyecTBa MPH JOPOKHBIX
ucnbITaHusIX. TOJBKO TMOCIAE ATOr0 aBTOMOOWIb BBOJIUTCA B CEpUIiHOE
OPOM3BOJACTBO. 3ayeM HYXHbl 3T TecTbl? Kakue kauecTtBa TpeOyrOTCS OT
aBromoOussi? CoBpeMEHHBIM aBTOMOOWIIb JIODKEH OBITh OBICTPHIM B pPa3roHE,
UMETH IJIaBHOE CIIETUIEHHE, OECIIYMHYI0 KOpOOKY Iepeaad, HaJeKHbIe TOpMO3a U
pyJieBO€ yHpaBi€HUE, a TAK)KE MPUATHBIN BHEIIHUM BUJl. Takxke oHA JOJIKHA OBITH
yI00HOH U UMETh BCE yA00CTRa.

I |23 |4 |5

d |e|c |a |b

[Tpunoxenne 2. Kiroun K  KOHTPOJIbHO-OIIEHOYHBIM  CpEJACTBAM  JIJIs
IPOMEKYTOYHOM aTTECTALINKU

Bapuanr 1

Kirou k 3apanusam
1.

1 2 |3 4 |5 6 |7 8 14 |15
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2. ITepeBog CHOB:
ABTOMOOWIB, Kapkac. CIUIOMET], SJIEKTPUUECKUN, CUCTEMa, [IWIMHAP, Kap/laH,
KOHTPOJIb, TUAPABINYECKUM, Me/1allb, BCIOMOTaTeIbHbIE YCTPONCTBA,
nuddepeHma.
3. KOMIIOHEHTBI ABTOMOBUJIA
B ocHOBHOM, aBTOMOOWJIb COCTOMT M3 TpPEX YacTeil: CUJIOBOM YCTaHOBKH, WU
JBUTATENs, Maccu W Ky3oBa. K HHUM MoOryT ObITh J00aBJIEHBI aKCECCyaphl:
o0orpesarenb, Gapbl, pagno, CIIUIOMETP U IPYTHE YCTPOMCTRA.
CwioBasi yCTaHOBKAa WIHM JIBUTArellb SBJISETCS HCTOYHUKOM SHEPruH, KOTOpas
3aCTaBIIE€T KOJIECa BpAIlAaThbCsl U aBTOMOOWIIb JIBUTaThcsi. OHa BKIIIOYAET B ceOs
AIIEKTPUYECKUE,  TOIUIMBHBIC,  OXJIAXKJAIOIIME U  CMAa304YHbIE  CUCTEMBI.
BonapmmHCTBO  aBTOMOOWJIBHBIX — JIBUTaTeled HMMEIOT WIECTh WM  BOCEMb
IIWIMH]IPOB.
[ITaccu cOCTOMT M3 CWIIOBOM Il€penadyu, paMbl C OCAMHM, Kosec U npyxuH. lllaccu
BKJIIOYAET B c€0s1 TOPMO3a U PYJIEBYIO CUCTEMY.
CunoBas mepegadya HECET MOIIHOCTb OT JBHUTrarelsl K KojecaMm aBTOMOOWIS U
COJIEPKUT CIEIUIEHUEe, KOPOOKYy Mepenad, KapAaHHBINM Bajl WU KapAaHHBIM Ball,
nuddepeHuan 1 KOHEYHYIO Tepeaavy.
Mydra cuemieHuss nOpeacTtaBiaseT  cobo  (PPUKIIMOHHOE  YCTPOWCTRBO,
coeuHsoIIee (WK pa3beIUHSIONIEE) KOJICHYAThIA BaJl IBUTATENS C IIECTEPHIMU
B KOpoOke mepenad. OH HCIONb3yeTcs sl OCBOOOXKIEHHUS KOpOOKM repenad OT
JIBUTATENS U YIPABISIETCA MEAJIbIO CLETICHHUS.

42




TopMo3a SIBJIAIOTCA BaXKHBIMM MeXaHuU3MaMu aBTOMOOmIs. OHH HCIIOJIB3YIOTCA
A 3aMEIJICHUS WM OCTaHOBKHU aBTOMOOWJISI. BOJBIIMHCTBO HCITOJIb3YCMBIX
CCroiHd TOPMO3HBIX CHCTEM SBJIAKOTCSA THAPABINYCCKHUMMU. Onn YHPABIIAIOTCA
[neaajabld TOpPMO3a. KOFI[E[ BOAUTCIIb HAXHUMACT Ha IICAaJlb TOPMO3d, OHH
IMPUMCHAIOTCA U ABTOMOOMIIb OCTaHaBJIMBACTCH.

4. 5.

1 213 |4 |5
I |2 |3 4 |5 A blb |b lc
c |d |a b |e brake
Bapuanr 2

Koarou k 3axanuam:
Cranku

Meran npoxoauT psi IPOIECCOB, MPEXKIE YeM OH (popMupyercs B TpeOyemyro
dopMy: nuThe, MpPOKATKa, CBapKa, MpOKajblBaHUE, OOpe3ka, MpsiAeHue, ruoka,
BOJIOYEHHME U JIP.
CraHku, BBINONHSIONIME BCE 3TU BHJIBI pabOT, HA3bIBalOTCS cTaHKaMu. CaMbIM
pacupoCTpaHEHHBIM  CTAHKOM, BCTPEYAIOIIUMCS MPAKTHYECKH B  JHO0OM
MacCTEpPCKOM, SIBIISIETCS TOKapHbIM CTaHOK. OCHOBHBIMHM €r0 YacTAMH SIBJSIOTCS:
0abka, maTpoH, 3a/iHsisi 0abKka, KapeTka.
ABTOMaTUYECKUA TOKAPHBIA CTAHOK-3TO COBEPIICHCTBO OOBIYHOT'O TOKAPHOTO
cTaHka. Ero HMHCTpyYMEHTBHI MEHAIOTCS aBTOMaTH4ecKu. Pabouuii, ymeroniui
IIOJIB30BATHCS TOKAPHBIM CTAHKOM, Ha3bIBAETCS TOKAPEM.
EcTp MHOro JOpyrux CTaHKOB, KOTOpbIE paOOTalOT Ha IJIOCKUX MOBEPXHOCTSX,
Hanpumep, (Gpe3epHble CTaHKH, IUJIAHUPOBOYHBIE U (POPMOBOYHBIE CTAHKH.
KpyroBbeie oTBepcTHsi CBEpNAT CBEpIsi MAIIMHON WM MPOOYPEHBI CBEPIMIbHBIM
CTAHKOM WJIM CBEPJIMJIBHBIM CTaHKOM. Pe3bOodpesepHble CTaHKU MPUMEHSIOTCS B
MPOU3BOJICTBE PA3JIMYHBIX 3JIEMEHTOB CTAaHKOB. 3yOOpE3HbIE CTAHKU BKIIIOYAIOT
3y0odpesepHble cTaHKU. Bce 3TH CTaHKM UCHONB3YIOT PEXKYIIMH MHCTPYMEHT U3
OBICTPOPEXKYIIIEH CTaITH.

Peiiku

CymiecTByeT TpuU TUNA TOKAPHBIX CTAHKOB, MPOU3BOJMMBIX HAIIUMH
CTAHKOCTPOUTEIbHBIMUA 3aBOJIaMU: TSDKEbIE, CPEAHUE W JIeTKHe Tulbl. Tum
TOKAapHOI'0 CTaHKAa 3aBHCUT OT pa3Mepa AuameTpa 3aroTOBOK.
Haubonee ynoOHbIM M 3(p(HEKTUBHBIM CTAaHKOM SIBIISIETCS KOMOMHHPOBAHHBIN
TOKApHBIA CTaHOK JUIsi TOKAapHOW, (pe3epHOl, CBEpIWIbHON, HUIU()OBAIBHOM,
JOJIOE)KHOW W WHCTPYMEHTAJIbHOM 3aTOYKU. Ero MOXXHO HCMOJB30BaTh Kak B
CTallMOHAPHBIX, TAK U B MEPEIBMKHBIX PEMOHTHBIX MaCTEPCKHX, HA CyJax U JIp.

CBepJwiIbHBINA CTAHOK

bonpmuHCcTBO CBEPJIUIIbHBIX CTaHKOB OCHAIIICHBI MEXaHU3MaMH,
MO3BOJISIIOIIIMMH HE TOJIBKO CBEPJIUTh, 3€HKOBAaTh M Pa3BEpPThIBaTh, HO U PE3aTh
BHYTPEHHHE PE3bOBI C MOMOIIBI0O METUYUKOB. CTPOSITCS KaK YHUBEpPCAJIbHBIC, TaK U
CIIelIMaJIbHbIEC CBEpJIa TUMA "paHaibHbIE" .
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OTBeTHI:

1. Metal undergoes a number of processes before it is formed into the required
shape: casting, rolling, welding, piercing, trimming, spinning, bending, drawing,
etc.

2. The machines which perform all these kinds of works are called machine-tools.
3. The most common machine-tool found in almost any workshop is the lathe.

4. The main parts of it are: the headstock, the chuck, the tailstock, the carriage.

5. The automatic lathe is a perfection of the ordinary lathe.

6. A worker skilled in the use of a lathe is called a turner.

7. There are many other machine-tools that work on plane surfaces, for example,
milling machines, planning and shaping machines.

8. Circular holes are drilled by a drilling machine or bored by a boring machine or
a boring mill.

9. Thread milling machines are used in the production of different machine
elements.

10. There are three types of lathes produced by our machine-tool manufacturing
works: heavy, medium and light types.

11. A most convenient and efficient machine is the model combination lathe for
turning, milling, drilling, grinding, slotting, and tool-sharpening jobs.

12. The most drilling machines are equipped with mechanisms, permitting not only
drilling, countersinking and reaming, but also cutting female threads with the help
of taps.

Bapuanr 3
Karou k 3ajanusm:
1.
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2.IlepeBon CIOB:
[unuaap, aBTOMOOWITE, OTpAaHUYCHHE, IICHTP, UK ( €XaTh HA BEJIOCHUTIIEIE),
KOMITPECCHUS, Ta3.

3. JBuraresp

JIBurarenpb SBISETCS MCTOYHUKOM JHEPTUH, KOTOpas 3acTaBIsIET aBTOMOOWIIb
nBUTaThCs. Ero 0OBIYHO HA3bIBAIOT JIBUTaTENIEM BHYTPEHHEIO CrOpaHUs, MOTOMY
9yTO OCH3UH CXKUTAETCS B €ro IWIMHIpaX WIM KaMepax CropaHus. bonbIMHCTBO
aBTOMOOWJIBHBIX JBUTATENEeN HMEIOT HIECTh WJIM BOCEMb LMIUHAPOB.
Pa0ounii UK Y4EeTHIPEXTAKTHOTO JIBUTATENs, KOTOPBIA MPOUCXOAUT B IWIMHIPE
JBUTATENsl, MOXHO pPa3JeNuTh HA 4YEThIpEe TakTa. BepxXHWil mNpenen IBUKEHUS
IOPIIHS HA3bIBAETCSI BEPXHEW MEpPTBOM TOUYKOM. HwkHMM mnpenen nBUKEHUS
NOPIIHS HAa3bIBAETCS HWKHEN MEPTBOM TOYKOM. XOA-3TO NBUKEHUE MOPIIHSA OT
BEPXHEH MEPTBOM TOYKM K HW)KHEH MEPTBOM TOYKE WM OT HW)KHEW MEpPTBOU
TOYKH K BEPXHEHM MEPTBOM TOUKe. [[pyrumMu ciioBamu, MOPUICHb 3aBEPIIACT XOZ
KQKJIBIM pa3, KOrJa OH MEHSET HAPABIEHUE CBOETO JABUKECHUS.
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Tam, rae Bech UK COOBITHI B IMJIMHIPE TPEOYyeT YeThIpEeX TaKTOB (1Ba 000poTa
KOJIEHYaTOr0 Bajia), JBUTaTEIb HA3bIBAIOT YETHIPEXTAKTHBIM ITMKJIOM JBUTaTEIIs.
UeThipe TakTa: BOYCK, CKATHUE, MOITHOCTh U BBIXJIOIL.

bputn TakXke W3roTOBJIEHBI IBYXTAKTHBIC JIBUTATENI, U B TaKUX JIBUTATEISIX BECh
LUKJI COOBITUH 3aBepIIaeTCs 3a ABa TaKTa WIM OJJUH 000POT KOJIEHYATOr 0 BaJia.

Ha takte Bnycka BOyCKHOM KjanaH oTKpbiBaeTcs. CMech BO3/1yXa U UCIAPEHHOIO
OeH3MHa TOIaeTCs B IMJIMHAP Yepe3 BIYCKHOM KiamaH. Ha TakTe cyxaTus BXOJIHOU
KJIalmaH 3aKphIT TaK, 4TO CMECh MOXHO o0XaThb. Ha TakTe cuibl o0a KiamaHa
3aKPBITHI JJIs1 TOTO YTOOBI MOJHATH JaBJIEHUE BO BpeMs cropaHus cMecu. Ha Takre
BBIITYCKa BBITYCKHOMW KJIanlaH OTKPBIBAETCS, YTOOBI HCUEPIATh

OCTaTOYHBIN Iras.

4, 5.
1 2 3 4 5 1 2 3 4 5
c |b |d |a |e a | blal|b d
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JIMCT U3MEHEeHU M JOMOJHEHH I K KOMILUIEKTY KOHTPOJbHO-0LEHOYHbIX
CpeIcTB

Jononnenns u usMeHeHus k komiuiekty KOC Ha y4eOHbI Toja 1o

JUCLIUILINHE

B xommnekt KOC BHeCeHbI clieIyolue N3MEHEHHUS:

Homonnenuss u w3MmeHeHus:s B koMmiuiekte KOC oOcyxkaensl Ha 3acemanuu [1LK

« » 20 r. (mpoTtokoi Ne ).

[Ipencenarens MK / /
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